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 B.Com./B.Com. (C.S.)DEGREE EXAMINATION, NOVEMBER 2016.

I YEAR — I SEMESTER

Major Paper I — FINANCIAL ACCOUNTING — I

Time : 3 hours
     

        Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. What is financial accounting?

2. Write short note on Accounting Standards - 6.

3. What do you mean by error of omission?

4. What is Bank Reconciliation statement?

5. What is single entry?

6. Rectify the following errors:

(a)    Purchase book is over cast by 

` 300

(b) Sales book has been under cast by 
` 200
7. Prepare Bank reconciliation statement from following data:

Balance as per cash book

 12,500

Direct deposit by a customer
      800

Bank charges


      
      100 

8. From the following details calculate average due date:

Date of loan


01.01.2008

Number of months

84

Number of  instalments
4

9. A machine was purchased for `30,000 on 1.1.86. This is expected to last for five years. Estimated scrap at the end of five years is `5000. Find out the rate of depreciation under the straight line method.
10. Calculate insurance claim from the following under average clause method.

A traders stock valued at ` 40,000 was totally destroyed. The stock in the godown was insured for ` 30,000 subject to average clause. The balance of stock left after fire appeared in the books at ` 24,000.
11. Find out the profit from the following data:

	
	        `

	Capital at the beginning of the year
	8,00,000

	Drawings during the year
	1,80,000

	Capital at the end of the year
	9,00,000

	Capital introduced during the year
	50,000
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12. Calculate the cost of goods sold:

Sales

`4,20,000



Rate of gross profit on cost 20%
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions 
13. Explain the different types of accounting conventions.

14. Distinguish between single entry and double entry system.

15. Prepare Trading account of Arun for the year ending 31-12-96 from the following information:

Opening stock                    80,000

Purchases                        8,60,000

Freight inward                   52,000

Wages                                24,000

Sales                             14,40,000

Purchase returns                10,000

Sales returns                   3,16,000

Closing stock                 1,00,000

Import duty                       30,000 

16. From the under mentioned particulars of Mohan prepare a bank reconciliation statement as on    

  31st July 1994.

(i) Cheques paid into Bank on the 28th July 1994 but credited to Mohan’s account in the first 
week of August 1994. K. Kalayan ` 1,000; J.Joy ` 800; R.Rahul ` 1,200.
(ii) The following cheques were issued by Mohan on 30th July 1994 but presented to bank for   

  payment after the close of the year. D.David ` 1,200; H.Hari ` 1,000; L.Lal ` 800.

(iii) A cheque for ` 300 was credited direct to the account and was not passed through the 
   cash book.

(iv) The bank balance as per cash book on 31st July 1994 amounted to ` 30,000.
17. On 01.01.2015 the amount due from Arun to Akbar was ` 10,000. During the six months ended June, the transactions were as follows:

2015







    `
Feb. 10

Sold goods to Arun

20,000

Mar. 15

Purchased goods from Arun
  6,000

Apr. 20

Cash received from Arun
  8,000

May.15

Cash paid to Arun

  6,000



Prepare an account current to be rendered by Akbar to Arun on 30.06.2015 calculating interest at 12% p.a. 

18. A fire occurred at the premises of a trader on 31.5.94 destroying a great part of his goods. His stock at 1.1.94 was ` 60,000. The value of stock salvaged was ` 13,500. The gross profit on sales was 30% and sales amounted to ` 1,53,000 from January to date of fire, while for the same period the purchases amounted to ` 1,03,500. Prepare a statement of claim.
19. From the following particulars find out net credit purchases:

	
	        `

	Opening balance of sundry creditors
	40,000

	Payment by cheques
	2,35,000

	Payment by bills payable 
	25,000

	Payment in cash
	5,000

	Discount received
	2,500

	Purchase returns
	5,000

	Closing balance of sundry creditors
	47,500


SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions.
20. Explain the various accounting concepts in detail.
21. The following are the ledger balances extracted from the books of Weifa .
	
	     `
	
	   `

	Weifa’s Capital
	50,000
	Sales
	3,01,000

	Bank Overdraft
	8,400
	Return inwards
	5,000

	Furniture
	5,200
	Discount (Cr.)
	800

	Business premises
	40,000
	Taxes & Insurance
	4,000

	Creditors
	26,600
	General exprenses
	8,000

	Opening Stock
	44,000
	Salaries
	18,000

	Debtors
	36,000
	Commission allowed
	4,400

	Rent from tanants
	2,000
	Carriage on purchase
	3,600

	Purchases
	2,20,000
	Provision for doubtful debts 
	1,000

	
	
	Bad debts written off
	1,600


Adjustments:
(i)      Stock on hand on 31st December 1995 was estimated as `40,120.

(ii) Write of depreciation on business premises `600 and furniture `520.
(iii) Make a provision of 5% on debtors for bad and doubtful debts.

(iv) Allow interest on capital at 5% and carry forward `1,400 for unexpired insurance.

Prepare final accounts for the year ended 31st December 1995.
22. A Company, whose accounting year is the calendar year, purchased on 1-1-93 a machine for      ` 40,000. It purchased further machinery on 1st Oct 1993 for ` 20,000 and on 1st July 1994 for     ` 10,000. On 1-7-1995, 1/4th of the machinery installed on 1-1-1993 became obsolete and was sold for ` 6,800.
Show how the machinery account would appear in the books of the Company for all the 3 years under Diminishing Balance method. Depreciation is to be provided at 10% p.a.
23. The position of a Businessman who keeps his books on single entry was as under on 31.12.14    
   and 31.12.15

	
	2014

`
	2015

`

	Cash in hand

Cash at Bank

Stock

Debtors

Furniture

Sundry Creditors
	    400

 6,000

 6,500

 4,000

    300

4,100
	   480

2,500

5,000

5,200

   350

3,100


He withdraws ` 7,500 from business on 2.1.91 out of which he spent ` 5,200 for purchase of a motor truck for the business.

Adjustments:

(a) 
Depreciation on closing balance of furniture and truck at 10%

(b)
Write off ` 220 as bad debts

(c)    5% Provision for bad and doubtful debts is needed.

Find out the profit or loss for the year.
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